@(m “ Wahid bought nw box of biscuits n:amn wanxﬂ+ of ms:mmﬁm.
: ; miers He paid with a $5 note and received 90¢ change. If the
@ *  Fill each circle using 3, 4 or 6 only once. Then multiply the nums packet of sweets cost $1.30, how much did the box of
= : . =
\_ G,fw ' two circles and write the answer in the square between them. G
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@ﬁ_\ Complete the shopping bill. |
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A.O:q . Jessica bought a tennis racket and a badminten racket.
The badminton racket cost $25.90. The tennis racket
cost $31.60 more than the badminton racket. How much

{ did Jessica pay altogether?

i
Total g '

Sugar 1% h

Orange Juice: $

$19.45 more than Leela. How much did they spend

Qm | Leela.spent $23.40 at the supermarket. Shanti spent
7
m altogether?

After paying $4.90 for a pair of socks and $19.60 for a
| : DW ._.,mEB_m N\:.m): had $25.50. How much money had he
ﬁ at first?
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H s\aﬂrmr‘mﬁ.@ Whriting in litres and
millilitres

ﬂ;\ Werite in millilitres.

I . I wz2e )m (b) 41=( Jml

/Im ! ﬂ () 71= h ml @ siz( Iml
) @ Write in litres.
\D) - (a) 3000ml={ |I (b) 5000 il = _,[; i
.IIM e | | (c) 6000ml=( )i () 8000 i o i
§ = g | @ Write in mililitres. _ :
: n | @8om={  Iml () 219mi=( | ml
: _ ﬁnvwhawma_uq | mi (d) 4 1400 ml = M Tl

l @B Write in litres and millilitres.

(@) 3001 mi = J i _
‘ (y27oam = )i )

(c) 5031 ml = J.th Ua__

4

‘ A_ﬁ_*_ (a) 5¢ = $ by 78e=% ) __“

’ @ N <S,:c in Qo:na and nﬁim

I

,a e mfu (d) 1800¢ = QU __%

rite the cost of each item in a half-price sale. )

rite the cost of two of each item.
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Doubles
1] £32 X2 = 8
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